
 

 

 

R&G Racing 

Unit 1, Shelley’s Lane, East Worldham, Alton, Hampshire, GU34 3AQ 

Tel: +44 (0)1420 89007  Fax: +44 (0)1420 87301  www.rg-racing.com  Email: info@rg-racing.com 

FITTING INSTRUCTIONS FOR REK0001 

REFLECTOR-EXTENDER KIT 1 

 

 

 

 

 

 

 

 

 

 

 

 

 
THIS KIT CONTAINS THE ITEMS PICTURED AND LABELLED BELOW. 

DO NOT PROCEED UNTIL YOU ARE SURE ALL PARTS ARE PRESENT. 

 

Please note that the way the kit is packed does not necessarily represent the way of 

mounting to the bike 

 

Please note that in cases where kits are packed with rubber washers holding the components onto 

the bolt – the rubber washers should be thrown away! 

 

THE PARTS SHOWN MAY BE REPRESENTATIVE ONLY (FOR CLARITY OF INSTRUCTIONS ONLY) 

 
 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

MOUNTING ARM 

       (REFEX1) 

REFLECTOR 

   (REFL 2) 

M5 NYLOC NUT 

M5 WASHER 



 

 

 

R&G Racing 

Unit 1, Shelley’s Lane, East Worldham, Alton, Hampshire, GU34 3AQ 

Tel: +44 (0)1420 89007  Fax: +44 (0)1420 87301  www.rg-racing.com  Email: info@rg-racing.com 

TOOLS REQUIRED 
 8 AND 10mm SPANNERS. 

 FLAT BLADED DRIVER. 

 

INSTRUCTIONS 
 MOUNT THE REFLECTOR TO THE MOUNTING ARM USING THE M5 WASHER 

AND NUT (ENSURE IT IS FITTED AS SHOWN IN PICTURE THREE BELOW), DO 

NOT TIGHTEN AT THIS STAGE. 

 

 

 

 

 

 

 

                                  

                               

 

 

 

     PICTURE THREE 
 POSITION THE LOWER EDGE OF THE LICENCE PLATE INTO THE GAP 

BETWEEN MOUNTING ARM AND REFLECTOR (THIS HELPS TO PREVENT 

VIBRATION), NOTE THE SLOT WHICH IS ALIGNED WITH THE THIRD 

CENTRAL MOUNTING HOLE OF THE LICENCE PLATE BRACKET. 

 MOUNT THIS ASSEMBLY USING THE THIRD CENTRAL MOUNTING HOLE IN 

THE LICENCE PLATE BRACKET LEAVING ALL BOLTS LOOSE. 

 POSITION THE LOWER EDGE OF THE LICENCE PLATE INTO THE GAP 

BETWEEN MOUNTING ARM AND REFLECTOR AND TIGHTEN ALL BOLTS. 

                          

PLEASE NOTE **** 
AS THE MOUNTING OF THIS ASSEMBLY MAY REDUCE THE CLEARANCE OF THE REAR 

WHEEL IT IS IMPORTANT TO CHECK FOR CLEARANCE OF THE REFLECTOR EXTENDER 

FROM THE REAR WHEEL UNDER HEAVY LOAD AND LARGE BUMPS IN THE ROAD. IT IS 

YOUR RESPONSIBILITY TO CHECK FOR THIS POSSIBILITY AND TAKE AVOIDING 

ACTION.  FAILURE TO CHECK THIS COULD RESULT IN SERIOUS INJURY. 

 

 

 

 
ISSUE 1  06/07/2011   (NSY) 

 

 



 

 

 

R&G Racing 

Unit 1, Shelley’s Lane, East Worldham, Alton, Hampshire, GU34 3AQ 

Tel: +44 (0)1420 89007  Fax: +44 (0)1420 87301  www.rg-racing.com  Email: info@rg-racing.com 

CONSUMER NOTICE 

The catalogue description and any exhibition of samples are only broad indications of the Products and R&G may make design 

changes which do not diminish their performance or visual appeal and supplying them in such state shall conform to the order. The 

Buyer acknowledges no representation or warranty (other than as to title) has been given or will apply to the Products other than those 
in R&G’s order or confirmation and the Buyer confirms it has chosen the Products as being of merchantable quality and suitable for 

its particular purposes. Where R&G fits the Products or undertakes other services it shall exercise reasonable skill and care and rectify 

any fault free of charge unless the workmanship has been disturbed.  The Buyer is responsible for ensuring that the warranty on the 
motorcycle is not affected by the fitting of the Products. On return of any defective Products R&G shall at its option either supply a 

replacement or refund the purchase money but shall not be liable if the Products have been modified or used or maintained otherwise 

than in accordance with R&G’s or manufacturer’s instructions and good engineering practice or if the defect arises from accident or 
neglect. Other than identified above and subject to R&G not limiting its liability for causing death and personal injury, it shall not be 

liable for indirect or consequential loss and otherwise its liability shall be limited to the amounts paid by the Buyer for the Products or 

the fitting or service concerned. These terms do not affect the Buyer’s statutory rights. 
 

 

R&G RACING RETURNS POLICY (NON-FAULTY GOODS) 

Returns must be pre-authorised (if not pre-authorised the return will be rejected). Goods may only be returned direct to us if they were 

purchased direct from us (customer must prove if necessary).  Otherwise to be returned to original vendor. Goods must be in re-
sellable condition, in the opinion of R&G Racing. All returns are subject to a 25% restocking and handling fee (25% of the gross value 

exc. P&P – at the prevailing price at time of purchase). The customer must pay any and all carriage charges. No returns of 

discontinued products, unless within 14 days of purchase. This policy does not affect your statutory rights and does not refer to faulty 
goods. 

 

 

 



 

 

 

R&G Racing 

Unit 1, Shelley’s Lane, East Worldham, Alton, Hampshire, GU34 3AQ 

Tel: +44 (0)1420 89007  Fax: +44 (0)1420 87301  www.rg-racing.com  Email: info@rg-racing.com 

Instructions de montage pour REK0001 

Extension reflecteur KIT 1 

 

 

 

 

 

 

 

 

 

 

 

 

 
LE KIT CONTIENT LES PRODUITS SUIVANTS 

Ne pas commencer le montage si une des pieces est manquante 

 

Veuillez noter que la facon dont le kit est emballe ne represente pas forcement la facon de le 

monter sur la moto. 

 

Notez que dans les cas où les kits sont emballés avec des rondelles en caoutchouc, 
composantes du boulon - les rondelles en caoutchouc doivent être jetées ! 

 

LES PARTIES PRESENTEES PEUVENT ETRE SEULEMENT REPRESENTATIVES  

 
 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

BRAS DE 

MONTAGE 

       (REFEX1) 

REFLECTEUR 

(REFL 2) 

M5 ECROU 

NYLOC 

M5 RONDELLE 

2 

2 



 

 

 

R&G Racing 

Unit 1, Shelley’s Lane, East Worldham, Alton, Hampshire, GU34 3AQ 

Tel: +44 (0)1420 89007  Fax: +44 (0)1420 87301  www.rg-racing.com  Email: info@rg-racing.com 

Outils requis 
 Cles de 8 et 10 mm. 

 Pilote a lame plate. 

 

INSTRUCTIONS 
 Monter le reflecteur au bras de montage en utilisant rondelle M5 et 2 ecrou (S’assurer 

que ce soit bien installe a la facon de la photo 3 ci dessous) NE PAS SERRER POUR LE 

MOMENT 

 

 

 

 

 

 

 

                                  

                               

 

 

 

               Photo 3 

 Positionnez le bord inferieur de la plaque d’immatriculation dans le creu entre le bras de 

montage et le reflecteur (Afin d’empecher les vibrations), Notez la fente qui est alignee 

avec le troisieme trou du bras de montage du support de plaque d’immatriculation. 
 Monter l’ensemble en utilisant le troisieme trou de montage central dans le support 

de plaque, laissant tous les boulons desserrés. 
 Positionner le bord inferieur de la plaque d’immatriculation dans le creu entre le bras de 

montage et le reflecteur. Serrez ensuite toutes les vis. 

                          

A NOTER 
Le montage peut reduire la visibilite de la roue arriere. Il est important de verifier la visibilite de la roue 

arriere avec l’extension de reflecteur meme lorsque la moto subit une charge importante ou choc via a un 

trou sur la route par exemple. Il est de votre responsabilite de verifier cette partie, un manqué 

d’attention a cette etape pourrait conduire a de serieux degats 

 


